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QUESTION 1

Which four are valid for integration usingService Oriented Architecture Cloud Service (SOACS)? 

A. Retrieve/Update supported data elements on the SaaS applications using REST Services in real time. 

B. SOACS has read access to HCM and ERP Cloud (SaaS) Applications data. 

C. Create Files in the required format and Orchestrate PBL data loads into the HCM/ERP Cloud. 

D. Create Files in the required format and Orchestrate FBDL data loads into the HCM/ERP Cloud. 

E. Create Files in the required format and Orchestrate ADFDi data loads into the HCM/ERP Cloud. 

F. Create Files in the required format and Orchestrate HDL data loads into the HCM/ERP Cloud. 

Correct Answer: ABEF 

 

QUESTION 2

Oracle SOA Cloud Service (SOA CS) includes a number of built-in adapters to include all of the technology adapters
delivered with SOA Suite. 

When using one of these technology adapters in a composite application deployed in SOA CS, which two are valid
approaches for facilitating connectivity to on-premises applications and systems? 

A. WLST script 

B. VPN service 

C. PL/SQL procedure 

D. SSH tunnel 

E. SOA on-premises connectivity agent 

Correct Answer: BD 

Explanation: Oracle SOA Cloud Service includes a number of adapters. All of the technology adapters delivered with
SOA Suite are available for Oracle SOA Cloud Service, Service Bus, and SOA Suite domain types. Connectivity to on-
premises applications should be verified, and either SSH tunnels or VPN service should be used for connectivity to on-
premises applications. 

https://docs.oracle.com/en/cloud/paas/soa-cloud/csbcs/adapters-oracle-soa-cloud- service.html 

 

QUESTION 3

You want to configure SOA Cloud Service instance to allow for a cluster of three WebLogic server instances. 

Which is a valid consideration when configuring the Load Balancer within your SOA instance? 
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A. Load balancer configuration may only be configured after the SOA instance cluster has been provisioned. 

B. Each load balancer node will share the same public IP address utilizing virtual routing redundancy protocol (VRRP). 

C. ASOA instance can include up to three load balancer virtual machine nodes. 

D. Oracle Traffic Director (OTD) is the only available implementation option. 

Correct Answer: A 

 

QUESTION 4

Which two statements correctly define the use cases for Business Process Execution Language(BPEL) vs. Business
Process Modeling Notation (BPMN) vs. Enterprise Service Bus (ESB)? 

A. Decision Model and Notation (DMN) replaces BPMN in modern Cloud Architectures. 

B. All are part of a typical/traditional on-premise enterprise integration strategy and can also be an important part ofa
hybrid on-premises/Cloud architecture. 

C. BPEL is inherently better than BPMN in managing orchestrations that involve people, because BPEL can also
interact with systems. 

D. An ESB is used primarily for stateless messages and service mediation. The ESBconstruct is being replaced by
API\\'s and API Gateways in modern Cloud architectures. 

E. BPEL and ESB are both good technologies for doing heavy transformations of data before sending the data to a back-
end system or database. 

Correct Answer: DE 

 

QUESTION 5

You have been tasked with provisioning a Managed File Transfer (MFT) Cloud Service on Oracle Cloud Infrastructure
(OCI). 

Which of provisioning requirement is NOT valid? 

A. You are required to obtain an authentication token for an Object Storage bucket within an accessible OCI
compartment. 

B. You can use any Oracle Database instance running in either OCI or OCI Classic. 

C. You must create a Virtual Cloud Network in OCI with at least two subnets. 

D. Provisioning MFT requires creating a SOA Cloud Service instance in OCI choosing "MFTCluster" as a service type. 

Correct Answer: C 
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